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QUESTION 1

Your customer requires changes be made to the Order Management work areas. The customer would like to rearrange
the tab layout and hide attributes. Which statement is true about this requirement and customizations that an
administrator will be able to make?

A. An administrator can only hide attributes and cannot rearrange the tab layout.

B. An administrator can rearrange the tab layout, hide attributes, and add custom components such as links.

C. An administrator cannot customize anything within the Order Management work areas.

D. An administrator can rearrange the tab layout, hide attributes, and change default widths of columns and panels.

E. An administrator can only add content and rearrange the tab layout. They cannot hide attributes.

Correct Answer: E

QUESTION 2

Your company is using Order Management Cloud to capture orders, and has integrated with a legacy inventory
application for order fulfillment. A fulfillment request needs to be aggregated and sent to an external inventory
application.

What step would you perform to aggregate the request?

A. Create a new custom task by using the Shipment Task Layer.

B. Create a new custom task by using the Fulfillment Task Layer.

C. Create a new custom task by using the Supply Task Layer.

D. Configure a fulfillment task routing rule with aggregation criteria based on time limit or total number of lines.

Correct Answer: D

https://docs.oracle.com/cd/E56614_01/scmop_gs/FAOFO/F1171442AN11B74.htm

QUESTION 3

What are the three future types of supply planned orders that GOP can consider? (Choose three.)
A. Transfer Planned Orders

B. Buy Planned Orders

C. Scrap Planned Orders

D. Rework Planned Orders

E. Make Planned Order
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Correct Answer: ABE

Future supply can include the supply that results from planned orders of three types: make, buy, or transfer.

QUESTION 4

Your customer is concerned about not having access to schedule orders and check availability when the Global Order
Promising server is down. Which two statements are true? (Choose two.)

A. Affected orders can be rescheduled based on supply chain availability search after server recovery.

B. Global Order Promising continues promising orders based on supply chain availability search until the server or
backup server can be restarted.

C. Global Order Promising cannot continue promising orders, but the server or backup server is usually restarted
quickly.

D. Affected orders cannot be rescheduled based on supply chain availability search after server recovery.

E. Global Order Promising continues promising orders based on lead-time availability until the server or backup server
can be restarted.

Correct Answer:. AB

QUESTION 5

You are using collaboration messaging to send an advanced shipment notice to a trading partner. You see an error with
the status "B2B Error." What does this status indicate?

A. It indicates that collaboration messaging is not supported in Order Management.

B. It indicates that the message has not been delivered because of a validation error in Collaboration Messaging
Framework.

C. It indicates that the SOA suite could not deliver the message because of a configuration or processing error.
D. It indicates that the message has not been processed because an administrator has put it on hold.

E. It indicates that the message has not been delivered because of a configuration or processing error in Collaboration
Messaging Framework.

Correct Answer: E
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